

Name: Shittu Rogeeb Adekunle

College: MHS Dept: MBBS

Matri No: 19/MH501/399

Date: 17th April, 2020

$$1) \int \frac{2x}{\sqrt{4x^2-1}} dx = \frac{1}{2} \int \sqrt{4x^2-1} + C$$

Solution

$$\int \frac{2x}{\sqrt{4x^2-1}} dx$$

$$\text{Let } u = \sqrt{4x^2-1}$$

$$u^2 = 4x^2 - 1$$

$$\frac{d}{dx} (4x^2 - 1) = 8x \Rightarrow \frac{d}{dx} u^2 = 8x \Rightarrow 2u \frac{du}{dx} = 8x \Rightarrow \frac{du}{dx} = \frac{4x}{u}$$

$$\frac{du}{dx} = \frac{4x}{u} \Rightarrow du = \frac{4x}{u} dx \Rightarrow u du = 2x dx$$

$$\frac{du}{dx} = \frac{4x}{u}$$

$$dx = \frac{u du}{4x}$$

$$dx = \frac{\sqrt{4x^2-1}}{4x} du$$

$$\int \frac{2x \times \sqrt{4x^2-1}}{\sqrt{4x^2-1} \times 4x} du$$

$$\int \frac{1}{2} du$$

$$\frac{1}{2} \int du = \frac{1}{2} u + C$$

$$\frac{1}{2} \times \sqrt{4x^2-1} + C$$

$$2 \int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx = (\sin^{-1} x - x) \frac{(\sin^{-1} x)^2}{2} + C$$

Solution

$$\int \frac{\sin^{-1} x}{\sqrt{1-x^2}} dx$$

$$\text{let } u = \sqrt{1-x^2} \quad p = 1-x^2$$

$$u = \sqrt{p}, \quad \frac{du}{dp} = \frac{1}{2} p^{-1/2} \quad \frac{dp}{dx} = -2x$$

$$\frac{du}{dx} = \frac{dp}{dx} \times \frac{du}{dp}$$

$$\frac{du}{dx} = -2x \times \frac{1}{2} \times \frac{1}{\sqrt{p}}$$

$$\frac{du}{dx} = \frac{-x}{\sqrt{p}} = \frac{-x}{\sqrt{1-x^2}}$$

$$dx = -\frac{\sqrt{1-x^2}}{x} du$$

from the question

$$\int \frac{\sin^2 x}{\sqrt{1-x^2}} dx$$

$$= \int \frac{\sin^2 x}{\sqrt{1-x^2}} \times \frac{-\sqrt{1-x^2}}{x} dx = -\int \frac{\sin^2 x}{x} dx$$

$$\text{But } u = \sqrt{1-x^2}$$

$$u^2 = 1-x^2$$

$$x^2 = 1-u^2$$

$$= \int \frac{\sin^2(\sqrt{1-u^2}) du}{1-u^2} = \ln|\sin^2 x| + c$$

$$3 \int (\tan x)^6 \sec^2 x dx$$

$$\left. \begin{aligned} u &= \tan x \\ du &= \sec^2 x dx \\ u^6 du &= u^5 \cdot du \end{aligned} \right\}$$

Solⁿ

$$\int (\tan x)^6 \sec^2 x dx$$

let $u = \tan x$

$$\frac{du}{dx} = \sec^2 x \quad \therefore dx = \frac{du}{\sec^2 x}$$

$$\int u^6 \times \sec^2 x \times \frac{du}{\sec^2 x}$$

$$\int u^6 \times \sec^2 x \times \frac{du}{\sec^2 x}$$

$$\int u^6 du = \frac{u^7}{7} + c$$

$$= (\tan x)^7 + c$$